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Lo ol +
= —=1Inu C
2

1
= 5In|x2—4x+9\+c.
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[3]

Put u =4+ In(x),

(4 + In(x))®

dx
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8 .
/ (4+1n())

X

Put u =4 + In(x), then du = dx/x. Substitute in the
integration we get
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e )
: = ()
X

Put u =4 + In(x), then du = dx/x. Substitute in the
integration we get

Intlegration 4 |n X 20

o s, [,

Exponential X

Functions
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[
/(4+|n(x))2° ”

X

Put u =4 + In(x), then du = dx/x. Substitute in the
integration we get

ILT:ienggral\tliaotnural / (4 + |n(X))2O dX — /u20du

Logarithm and
X

Exponential
Functions
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e )
" [ ()Y
X
Put u =4 + In(x), then du = dx/x. Substitute in the
integration we get
Intlegration 4 | 20 1
o JE g = [ a = e
Exponential X 21

Functions
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Bander [5]

Almutairi / (4 + In(X))20 dX
X
Put u =4 + In(x), then du = dx/x. Substitute in the
integration we get
Intlegration 4 |n 3% 20 1
e [ e = [ an— et
Exponential X 21

Functions

= (4+In(x)2+c
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Put u = e+ e™%, then du = e* — e Xdx
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Integration X —X
Using Natural e —e€
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Exponential e + e
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Bander

Almutairi

eX —e™X
—dx
. eX + e*X

Put u = e + e™%, then du = ¥ — e *dx and hence,

Integration - eX e,X 1

Using Natural - X —x
Logarithm and ﬁdxz *dU:|n’U’+C:|n‘e +e ‘+C
Exponential e + e u

Functions
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Integrations of Trigonometric Functions:
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Integrations of Trigonometric Functions:

(a)

tan(x)dx = — In |cos(x)| + c.



The Natural Integrations of Trigonometric Functions:

Logarithm and
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Functions

/tan(x)dx = —In|cos(x)| + c.

/cot(x)dx = Insin(x)| + ¢

Integration

Using Natural
Logarithm and
Exponential
Functions



The Natural Integrations of Trigonometric Functions:

Logarithm and

Exponential (a)

Functions

/tan(x)dx = —In|cos(x)| + c.

/cot(x)dx = Insin(x)| + ¢

Integration

Using Natural (C)
Logarithm and

e /sec(x)dx = In|sec(u) + tan(u)| + ¢



The Natural Integrations of Trigonometric Functions:

Logarithm and

Exponential (a)

Functions

/tan(x)dx = —In|cos(x)| + c.

/cot(x)dx = Insin(x)| + ¢

Integration

Using Natural (C)
Logarithm and

e /sec(x)dx = In|sec(u) + tan(u)| + ¢

/csc(x)dx = In|esc(x) — cot(x)| + ¢
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